EAGRAROBREERT — 2 N— ABISH —F

2019512818 (H) 5HEER#2H

R X

RESF 4t HETE] b

‘ [R1%] & ‘ [RERBB] — | Z (%) 1800 B

[~®%] 1 7% :5,000,000 @ ~ 2 3% :2,000,000” ~ 33 :1,300,000H”

4 7% 750,000 5 3& : 500,000 F

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. i o2 | BEREN 1:48.4 2-2 33.4| 83.6 | 2 456 | =G (RR)
117lg| F>FLbyyy 54.0 ) ) EHEL
L:vn7x BAITIIT— J—=HrTp—L
4 2 | HALGLT 148.4 -1 [33.5(83.6 | 5 | 456 |SFHA— EN)
» 6 FvAh 54.0 (INF) (-8) BHEER
R:A—-Kp+a7 B:/TLRFTUyY (B) #AEIA-FKL—Ya>AET7
S s 2 | dERKR— 1:48.8 2-2 33.9| 76.9 | 1 48 | BFHEM (BR)
3/5|5 7r)JE2—b 54.0 (2 1/2) (-10) BREE LY
R:F4—TA4>N7 s B:TS59 09I TLA J=HrTp—L
. o p = — B2 | WIEE 1:48.9 4-4 33.8| 77.0 | 6 426 | EEFUEE (RR)
AN 4| 71 —2>HEFTZZ 753.0 1/2) (+4) #) NICKS
R:ANTr—FI B:H NI TRH Bl 18
: D f 2 | AEHES 1:49.0 4-4 33.8]76.2| 7 470 |HEEEZ (RFW)
s o | 7RI VITLH 252.0 (1/2) (-q) |EEFI—
L:vA7x B:Ea27VR J—=HrTp—L
= - s 2 | EHEEA 1:49.3 8-8 33.9( 729 | 8 404 | BREN (FER)
611117V /T1477=— 54.0 (1 3/4) (o) | AT
L:d—IWRYy 7 B:FAXI-IK NS
= > e 2 | BRHE—ER 1:49.3 9-8 33.8| 73.4 | 10 | 446 |=ERZ (BXR)
7B 3| Z7HEAVYESR * 54.0 (7€) ! a | R /-ZENZ
L:77>TURX B:arro-yry FIE
5 . f 2 | HARR— 1:49.4 7-6 34.1| 702 | 4 454 | PRARE (RR)
sl 7| 7L —RIE- 54.0 (1/2) (-12) | AZHIT
R:TwREY A BTFN A RFv—L4 KNS
Py 4 # 2 | BEKXME 1:49.6 9-8 34.1|68.6 | 3 460 | AEE (EH)
91810 I HE=I 54.0 M (o) |Wm#=
L:W—5—2y 7 B:7A7L/330 i/ ce ]
s 2 | ESEME 1:49.9 1-11 34.2| 65.4 | 11 406 |ETEES (ER)
10/8/11| 7V FUER 54.0 (1 3/8) ) | B 55IL ks3I 5747
R:JZRT 44— BixA4xL—YzIl EvJLy RIT7—L
oS f o2 | AR 1:51.4 4-6 36.1]40.4 | 9 432 | BEHAIZ (FR)
1z 9| 7177=~"1Ya 54.0 © g | BB
LiA—Y v Th— BixLavu~sy Bk Bk
@ 21 L
£ 46.0-33.5
NA>ZA L | 12.9-11.3-12.1-13.0-13.1-12.5-11.0-11.0-11.5
® I—F—@EBIERL
13—=7—
2al=5"=
== 6(5,8) (4,2,9)7,1(3,10)-11
43—+ — (¥6,5,8) (4,2) (7,9) (1,3,10) 11
[ N5
B 8 280M 714K 6-8 540M e E 6-7 870 JEE 5-6-8 1,500
# B 8 110 5-8 180H B = 6-8 1,840 3EE 8-6-5 9,830
6 220M 5-6 610M B H 8-6 3,220M
5 120/

ABRICOVTHRTEEERROODE, THEB LS,




